
SAP ABAP table FAGLFLEXT_DIF {Delta Table: G/L Totals}

FAGLFLEXT_DIF

RCLNT [CLNT (3)]

RYEAR [NUMC (4)]

OBJNR00 [INT4 (10)]

OBJNR01 [INT4 (10)]

OBJNR02 [INT4 (10)]

OBJNR03 [INT4 (10)]

OBJNR04 [INT4 (10)]

OBJNR05 [INT4 (10)]

OBJNR06 [INT4 (10)]

OBJNR07 [INT4 (10)]

OBJNR08 [INT4 (10)]

DRCRK [CHAR (1)]

POPER [NUMC (3)]

ACTIV [CHAR (4)]

RMVCT [CHAR (3)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

AWTYP [CHAR (5)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

LOGSYS [CHAR (10)]

RACCT [CHAR (10)]

COST_ELEM [CHAR (10)]

RBUKRS [CHAR (4)]

RCNTR [CHAR (10)]

PRCTR [CHAR (10)]

RFAREA [CHAR (16)]

RBUSA [CHAR (4)]

KOKRS [CHAR (4)]

SEGMENT [CHAR (10)]

SCNTR [CHAR (10)]

PPRCTR [CHAR (10)]

SFAREA [CHAR (16)]

SBUSA [CHAR (4)]

RASSC [CHAR (6)]

PSEGMENT [CHAR (10)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 FAGLFLEXT_DIF-PPRCTR = CEPC-PRCTR 

0..N

0..N

 FAGLFLEXT_DIF-PRCTR = CEPC-PRCTR 0..N

0..N

CSKB

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KSTAR [CHAR (10)]

DATBI [DATS (8)]

 FAGLFLEXT_DIF-COST_ELEM = CSKB-KSTAR 
0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 FAGLFLEXT_DIF-RCNTR = CSKS-KOSTL 

0..N

0..N

 FAGLFLEXT_DIF-SCNTR = CSKS-KOSTL 0..N

0..N

FAGL_SEGM

MANDT [CLNT (3)]

SEGMENT [CHAR (10)]

 FAGLFLEXT_DIF-PSEGMENT = FAGL_SEGM-SEGMENT 
0..N

0..N

 FAGLFLEXT_DIF-SEGMENT = FAGL_SEGM-SEGMENT 0..N

0..N

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 FAGLFLEXT_DIF-RACCT = SKB1-SAKNR 
0..N

0..N

T000

MANDT [CLNT (3)]

 FAGLFLEXT_DIF-RCLNT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 FAGLFLEXT_DIF-RBUKRS = T001-BUKRS 
0..N

0..N

T022

ACTIVITY [CHAR (4)]
 FAGLFLEXT_DIF-ACTIV = T022-ACTIVITY 

0..N

0..N
T856

MANDT [CLNT (3)]

TRTYP [CHAR (3)]

 FAGLFLEXT_DIF-RMVCT = T856-TRTYP 

0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 FAGLFLEXT_DIF-RASSC = T880-RCOMP 

0..N

1

T894

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]

 FAGLFLEXT_DIF-RVERS = T894-RVERS 

0..N

0..N

TBDLS

LOGSYS [CHAR (10)]

 FAGLFLEXT_DIF-LOGSYS = TBDLS-LOGSYS 

0..N

0..N

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 FAGLFLEXT_DIF-RFAREA = TFKB-FKBER 

0..N

0..N

 FAGLFLEXT_DIF-SFAREA = TFKB-FKBER 
0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 FAGLFLEXT_DIF-RBUSA = TGSB-GSBER 

0..N

0..N

 FAGLFLEXT_DIF-SBUSA = TGSB-GSBER 

0..N

1

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 FAGLFLEXT_DIF-KOKRS = TKA01-KOKRS 

0..N

0..N

TTYP

AWTYP [CHAR (5)]

 FAGLFLEXT_DIF-AWTYP = TTYP-AWTYP 

0..N

0..N

V_FAGL_T881_DBAL

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 FAGLFLEXT_DIF-RLDNR = V_FAGL_T881_DBAL-RLDNR 

0..N

0..N


